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315 19:31    expT = 66 s   Kp=1.0    moon=0.09
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1600 19:30    expT = 30 s   Kp=1.0    moon=0.09

0 100 200 300 400 500
322
324
326
328
330
332
334 19:46    expT = 128 s   Kp=1.0    moon=0.09
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1600 19:44    expT = 30 s   Kp=1.0    moon=0.09
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0 100 200 300 400 500
305
306
307
308
309
310
311 20:15    expT = 56 s   Kp=1.0    moon=0.09
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1600 20:27    expT = 30 s   Kp=1.0    moon=0.09
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21:00    expT = 133 s   Kp=2.3    moon=0.09
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328 21:21    expT = 189 s   Kp=2.3    moon=0.09
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1600 21:20    expT = 30 s   Kp=2.3    moon=0.09
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328 21:44    expT = 189 s   Kp=2.3    moon=0.09
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1600 21:43    expT = 30 s   Kp=2.3    moon=0.09
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1600 22:06    expT = 30 s   Kp=2.3    moon=0.09
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22:48    expT = 123 s   Kp=2.3    moon=0.10
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0 100 200 300 400 500
310
312
314
316
318
320
322 23:27    expT = 163 s   Kp=2.3    moon=0.10
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1600 23:26    expT = 30 s   Kp=2.3    moon=0.10
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320 23:50    expT = 165 s   Kp=2.3    moon=0.10
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1600 23:49    expT = 30 s   Kp=2.3    moon=0.10

0 100 200 300 400 500
310
312
314
316
318
320 00:13    expT = 179 s   Kp=2.3    moon=0.10
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1600 00:12    expT = 30 s   Kp=2.3    moon=0.10
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315 00:37    expT = 191 s   Kp=2.3    moon=0.10
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1600 00:36    expT = 30 s   Kp=2.3    moon=0.10
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0 100 200 300 400 500
400
600
800

1000
1200
1400
1600 02:23    expT = 30 s   Kp=2.3    moon=0.11
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322 03:08    expT = 435 s   Kp=2.3    moon=0.11
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1600 03:07    expT = 30 s   Kp=2.3    moon=0.11
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322 03:50    expT = 394 s   Kp=2.3    moon=0.11
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1600 03:49    expT = 30 s   Kp=2.3    moon=0.11
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316 04:27    expT = 189 s   Kp=2.3    moon=0.11
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302303304305306307308309310311 05:36    expT = 70 s   Kp=2.3    moon=0.12
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303304305306307308309310311312 05:50    expT = 74 s   Kp=2.3    moon=0.12

0 100 200 300 400 500
400
600
800

1000
1200
1400
1600 05:49    expT = 30 s   Kp=2.3    moon=0.12
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311 06:03    expT = 64 s   Kp=1.0    moon=0.12
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344 06:26    expT = 43 s   Kp=1.0    moon=0.12
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1600 06:25    expT = 30 s   Kp=1.0    moon=0.12


